- 9\ =412R [RPTC
1 PIVAH— KHEAE 1 | 1|0 1
2 J=TINITAR  |IRESE 55.1 3|3 7
3 PN T —RE9— SHEHRH | 529 | 2 | 2 4
4 | 5 |[EYJ03JAN-7 |(KiRSE*EF | 527 | 5| 6 3
5 JA—HIA>d [ AHEE | 514 | 9 | 7 6
6 (037> )0 |LigHE | 50.0 4 | 4 2
7 U ASILANY FEEXEF | 46.4 6 | 5 5
8 AV—-MIRTZ |#skiG 444 | 7 |10 8
9 | 1 |7¥)0U-7 |EH=EHR| 414 | 8 a

10 @ uen-71  |mmEs 13581 10 10

Ih=E

== 8 ¥150 2-5-8 ¥2,260

EE 2-8 ¥850 8-2-5 ¥5,290




- 5F4 | BBIES £ | oK | T | 21 | B

J—r1)— FE1E X EP 3|5 6
JZEO/O WG 56.8 | 1| 1|0 3

A d-RITVA AHEE | 56.6 | 4 | 2 4
F1IN5—RK B | 53.8 | 6 | 6 2
o RrR—31 LWISHEEH | 52.6 2 | 3 1
10 DLgéim E&EgE | 496 | 7 | 7 5
J3—Ahbz = E= 45.9 5| 4 7
SAITILUR lIEfER | 44.2 9 |10 8
FIGA—F A IREFEN | 44.1 | 10 10
T+ WEEA (351 8 9
2 ¥520 - » B 2 ¥1,570

-7 ¥3,490 2-7-8 ¥21,490




: B4 BFL | BBENM | C | = =g
1 |0 AU-OYYZ  (ILSHH 629 1 1 | 1 | o 1
2 h)>ovRr—)l |EHRE¥R | 58.2 2 | 2 3
3 SAMNILM4h— |EEXEE | 56.3 3| 3 2
4 YJ)J)J45— |AHERZE| 559 |4 | 7 8
5 PR I7=)91Y iS5l | 52.0 | 7 | 5 6
6 | 5 TNy WEEA | 475 | 9 | 10 9
7 D |3a94>y5537 (M | 445 |6 | 4 2
8 QK J47ANGV-Y  |FIEER | 42.0 10| 8 7
9 | 1 |[11/7nY+T |kBEA= | 40.6 9 10
10 [ YA vIb SHEH | 40.0 6 5
Ih=E

4 10 ¥110 6-8-10 ¥550

6-10 ¥490 10-6-8 ¥1,300




]
1
1
T
T
T]
o

Ok | 7 | N1 | SR

1 JrPUARIVT | RME 1|10 1
2 Yo7+ =L | 2 | 2 5
3 [ AYTL KR 5|5 4
4 | o |IVATIUYL | SHES 3| 4 3
5 B ZESVINL— FIEPE R 8 | 7 6
6 ATA3U— Pa¥. % 1) it 9 | 9 9
7 D5 F=INT HaRia 6 | 8 8
8 J1Fo0—% L3R 4 | 3 2
g A 33uHYUY | KHERE 7 | 6 7
IhimE
4 ¥140 [e3EL;E 1-4-9 ¥340

1-4 ¥320 [eitil: 4-1-9 ¥1,010




: 1) =4%07R [RPTS
1 IM320—Y— | BExHil 4 3
2 SvF—T5Y5) |EREE | 6 | 4
3 B zo—gany  |=ns | 111 o AR
4 FyS1IA—K  |MEEA | 54.6 | 5 | 6 4
5 | 1 |[PARYTLT  |HESE— | 539 | 2 | 1 1

SHEH | 519 | 3 | 2 2
| g 7 | s 9
=Rl 8 9 7

Ik BT EE i 11| 10 6

N 9 8

XiR#E | 360 | 10 10

¥160 1-8-11 ¥400

¥150 1-11-8 ¥710




Ok | 7 | N1 | SR

1 LIFA = - 1
2 | 1 [ Af3A9A-NRR |FEER | 55.6 | 1 | 1 2
el 6 pZAVranbdy ImEFEEN | 50.6 | 4 | 5 6
4 | 5 |(TASSvIY> |EHZEXEF | 50.2 7 | 7 4
5 | :f (PZROZSI) HPE=l | 47.9 5| 4 3
6 J=kyh MG 46.8 | 6 | 3 4
J7—IDATA4 8 | 6 5
hIFvUIITAR 3| 8 HH

3 ¥210 S5 1-3-8 ¥230

1-3 ¥110 g 3-1-8 ¥880




- 9V =4M19R [RE
[ = = SBIe% == = [
1 JV—-y— EEAR | 614 | 4 | 4 2
2 Y JFVNIY | ABAE | 611 | 2 | 2 3
3 O—RIVRFAb |ZENISE 58.8 E | a 8
4 | 1 |NUF1—0O Hhiss | 54.3 | 3 | 3 1
5 B8 BkI1—) BEE— | 441 | 5|5 4
6 | VARIR—FVR | KiREiE | 421 | 8 | 8 7
7 | 5 [54vxvt—y |@Emm | 402 | 6 | 6 5
8 Ty — BER | 38.0 | 7 | 7 6

Ih=E

1 ¥320 k31 1-2-3 ¥550

1-2 ¥570 Qeicil:l S i ¥2,180




]
1
1
T
T
T]
o

Ok | 7 | N1 | SR

1 | 1 (9129TLT KHEAE 1 | 1|0 2
2 I SYFYI0-R(ENE 509 | 4 | 3 3
3 eAUA-Y HR{E= | 48.9 2 | 2 1
4 A2vI+7 FEEXE | 47.8 6 | 7 4
5|5 |J-WRJUYRA |EFEE | 47.2 | 7 | 6 7
6 Y J)5v A5 MHegsh | 45.7 | 5| 5 6
- - P -
IhimE

3 1-3-6 ¥410

1-3 3-1-6 ¥3,200




T T
L1L]

= I3 F & BBE%S

Ok | 7 | N1 | SR

1 | 1 |¥39u33—J-4F HEih 1| 2 12
2 S N b=Rs Al 61.2 3 | 8 6
3 J-IRA—=I) |KkFEAE | 59.2 | 5 | 7 2
4 E—FIJUSEA |RESE 546 (6 | 9 | % 11
5| 6 |1=>vI74— |EEXE| 53.8 | 4 | 3 | % 4
6 | PAFr>yIIFaOy |WEEA | 496 | 2 | 1 8
7 tLFHM4MIL— |[EER | 48.0 | 7 | 4 3
8 ToHYT1 X kEiS— | 47.6 | 10| 11 7
9 ASTIIN=) AHE#HE | 45.8 | 9 | 5 1
10 J7)7RRU>y BHSEHR| 429 | 8 | 6 10

bl 11 PR UL 12

5 |¥==A0AD0 10

Ih=E

7 ¥1,030 5k 2-7-8 ¥20,160

2-7 ¥6,080 B 7-2-8 ¥138,320




